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10 saplings — in a field of 50x50 cubits (approx. 24 x24 sq. meters) equally spaced — the laws
of tosefet shviit do not apply - one can plow the whole field until Rosh Hashana of the

shmita year.

Version 2

Version 1

9y M7 - Fhy 192 1 P27 PN
.07 "2 79730 Ap¥oxY vIL YN
p'N ¥ hp (D HRPINY) NRIP NN
AN€ 29393 p'ar

Yy M1 - £y 199¥ 1127 DN
"2 19777 np¥oxY vID ,oMn
ReLahiii

Braita on the
topic of
arava

YWIN9 NPT : NPT 2T N9 PRI
NN w22 PN ¥ hp WD NP
1989 - 177

L¥ np (V2 HNPI) INIP IND
UNC 22393 p'ar p'N

Rabbi Zeira’s
comment

NP YWD NNODYTY : MAN 7D DN
N 27 !N ¥ hp WIN
1ANIN 171

Difficulty

1IN ONN 1D DN

1/NeONND YD DN

Rejection of
the difficulty

h 3295 HRIY Y ININN NN : NIN TN VITPN N ININ 227 DN
.D>IN2V NANAND JANY W 1 .12 - I ONDY 0799 pIN L¥

Explanation
of the verse

Contradiction between 2 braitot

Braita 2

Braita 1

5100 - JonY ™17 ,wd - Pand Mg

27IDXDX PRI 7129V 1777 R
993,0917R %W map N2
P21 PEY,JIwn
2¥1,72% 79w mp ,nD¥DY
23 17 1°01, 213 1w

The
contradiction

AN NN NN NN D - MIAN NN The solution

INDVY Difficulty

N - MY OV D IR DN : NONTINN Answer
A0 YRWN Rp ,IWoN)

9109 "NY DWW — 3) YD1 NN Difficulty

.01 991 NN N Lhy 199¥ Answer

0®08&®

Rabbanit Michelle Farber
@ hadran.org.il
@ michelle@hadran.org.il



What is the relevance? Words whose meaning
switched
955 NN2IY NNAoN NTON 29
MYN UNI YV 19D NDIINN NNDY
990 NP NN NNNINS
MDION N >21Y2 XYM VNNID p2paAaRivaRal AN
DoV VN YoM Y12 90 92 NaH
Mishna .nywn
X2pY 29 11591 929 HRYPW? %29
- IAR 3INKRI TR 2297w Qwd QMR WY 12°DR ,N129Y °nwN 2°077 TYY
NX 772991 30X 0771 2 12°DX MK 2INKT, TR 212
DILR I°K INXRI DIV DIV
Braita on the same topic as the mishna
YR 927 92 MK X2y 29 713970 29 HRYHW? 227
IR KiP 2107 IR 2NOW oW | DWW BRI, WY | IR - 290 ¥ 100
20AR AR Y | 0T D ,IAR 31INX PR | K - pIND NI
’29 IDR1°21,MIDR LIAR 712997 IR -niay ¥y Tp¥
haol 270 $¥ - Fny 122 .whw
X2 XYM 2 p79v N .0nw
1092 RYX MR ,0°mI0p 07w 159X
.0I0R WRY TN

M0 APRY RANY - pahpdl A Tnn 2731 DR 77 1P20YRW I

1TV NN L ONRYNIY *2 : Difficulty with Rabbi Yishmael’s opinion

INDID MY OYDY — YA PIOVOIN e

N9 0 THIDON — PIOYYIYI NI ON @
. HNYNY 317 12 TN NN 127 N DN DN : Answer

)19V 2295 N9YN : HNINIY NN DTN 27 N : Psak halakha of Shmuel

ONINY IND MINT,NYLY DNXINY NTIN)

: Further proof that Shmuel held this way

9TV 295 199 NIVOIT - RD ONY 1PN NWUN : NON NAMT IMND
19V HPINT RDYPY 727 N0 WD) - DPMNT DIVND RNDIDIN INNYV NN

OYW ND DYOP XD TN NIV M0P XNYN : Rejection of the proof

Rabbanit Michelle Farber
@ hadran.org.il
@ michelle@hadran.org.il



